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(EMPLOYABILITY SKILLS)
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(EVENING SESSION)
SEMESTER - II
TIME: 3 HRS. MARKS: 50
Note: Attempt all questions. All questions carry equal marks.
This paper carries negative marking. 25 % marks will be deducted for each wrong
answer.

EMPLOYBILITY SKILL (PART - B)
Choose the correct answer.

L For small business owners, one of the most important objectives is .
a) Profitability b) Growth ¢) Market presence  d) Adaptability

2. is defined as a form of business that is an association of two or more people
acting as co-owners of a business.
a) Partnership b) Proprietorship c) INC d) Corporation

3 SWOT is an acronym for

a) Strategy, Working, Opinion, Tactlcal

b) Strengths, Weakness, Opportunities, Threats
c) Strategy, Work, Openness, Toughness

d) Strategy, Weakness, Opinions, Tactics

4. What should organisations seek to do with stakeholders who have high interest and low
power? _
a) Invest minimal effort b) Keep informed
c) Keep satisfied d) Invest maximum effort

3 SIDO stands for
a) State Industries Development Organization
b) Small Industries Development Organization
¢) Scale Industries Development Organization
d) Smart Industries Development Organization

6. According to the shop/ establishment act 1953, communication of closure of the
establishment has to be done within days from the closing of the establishment.
a) 15 b) 20 c) 25 d) 30

7. What is gross domestic product (GDP)?
a) Income earned through foreign exchange
b) The number of dollars earned in industry
¢) Income earned within a country’s boundaries
d) Goods received from the nation’s local residents
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8. If GDP for palau a small country near southeast of the Philippines is $ 130 million in
2002 and its population is 20, 000, GDP per capita is . ‘
a) 6500 b) 130 c) 0.0065 d) 650
9. Wages represents rates of pay.
a) Hourly b) Daily c) Weekly d) Monthly
10.  The following is paid only at the time of employees exit after serving more than five
years.
a) Perquisites b) Claims c¢) Gratuity d) Allowances
11.  Which formula correctly describes productivity?
a) (Output — Input)/ Output b) (Input — Output)/ Input

¢) Input/ Output d) Output/ Input

12. What does HACCP stand for?
a) Hazard Analysis Control Critical Points
b) Hazard Application Control Critical Points
c) Hazard Critical Analysis Points Control
d) Hazard Analysis Critical Control Points

13. Which one is the most uncommon injury in the hospitality industry?
a) Sprains and strains b) Being hit by falling object
c) Falls i d) Sun —related injuries

14 Workplace related injuries, illnesses and deaths impose costs upon .
a) Employers b) Employees ¢) The community  d) All of these

15. Inthe ongoing ‘climate change debates’ which of these groups is least likely to be
identified as having an interest in overemphasising the need for global action on climate
change?

a) The media

b) Fossil fuel corporations

¢) Academic climate change researches

d) Countries, such as the Maldives, at risk of rising sea levels

16.  Which of the following is/are inorganic gas (es)?

a) Carbon monoxide b) Hydrogen sulphide ¢) Chlorine d) All of these
17.  The major pollutant from automobile exhaust is :
a) NO b) CO c) SO2 d) Soot
18.  One of energies that is known as renewable energy is .
a) Coal b) Oil c) Tides d) Natural gas
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19. Source of geothermal energy is :
a) Sun b) Tides c) Earth d) Air
20.  Alternative sources of water include which of the following?
a) Domestic recycling b) Rainwater harvesting
¢) Aquifer storage and recovery d) All of these
21. The Factories Act imposes the following obligations upon the employer in regard to his
workers. (Sec 7 A)
a) Heath b) Safety c) Welfare d) All of these

22.  If an employee works on any day on which he was employed for a period less than the
requisite number of hours constituting a normal working day, he shall be entitled to
receive wages.

a) For a full normal working day b) For the hours he had worked
¢) For a half working day d) None of these
23. The Central Government has amended the ceiling for contributions under the Employees’

Provident Fund and Miscellaneous Provision Act, 1952 (EPF Act) and the Employees’
Provident Fund and Miscellaneous Provision Scheme, 1952 (EPF Scheme) from

to , with effect from 1 September 2014.
a) Rs. 7500/ - to Rs 15000/- b) Rs. 6500/~ to Rs. 13000/-
c) Rs. 6500/- to Rs. 15000/- d) Rs. 5000/- to Rs. 12000/-

24.  The exhaustion suffered by an individual due to continuous exposure to a stress-causing
situating is normally known as

a) Entrapment b) Tiredness c) Irritability d) Burn-out
25. Total Quality Management (TQM) focuses on "
a) Employee b) Customer c) Both (a) & (b) d) None of these
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